A reservoir, shown in the image, is filled with water of T -
density p, and it is drained through a pipe. The reservoir .b | fo ﬂ
is open to ambient air p,. The water level height is h in 1
the reservoir, and the highest point of the pipe is b higher P ‘;
than the water level. The height difference between the h H
highest point and the outlet of the pipe is H.

ASSIGNMENTS

2
a) What is the velocity at the outlet? ]. L
b) How much can H be increased (the increase happens downwards, with the highest point staying
at the same position) without reaching cavitation, if the vapor pressure of water is p,,? What is
the velocity at the outlet in this case?

DATA

p =1000kg/m3, p, =10°Pa,h=02m,b=02m, H=2m,p, = 103 Pa

S
x
o] [ o
1
" H
T
tl o
_ - 0 &I«"I’f Carhihon d’g.!
a) BE12 1 by ot HY o
ATHEC 180y = R 3 l e :
I
b N BE 3-2
2 z + ; = @-;"
S- 7+ G par § B+ P, = for T2 0L

I f,
vy
(H-b
3 ) \P@\;rb‘.L) = Fu“f’a
Hm = %ﬁf\ = 3!9"1

Ny = 13 [ How ~b)

I"
v
\ &
ulF



